~6

¢

Bod a0
Ay T Lo sl

ui.ﬁ:,.% u::)yi 3 obe,s ngﬁ LIPAY
a5 il (S5 b psle il glsd bt

B3 sl S S e

DAY leass Sl

andy ad,l oS 6y 93 (53959 0ga5T Y G

Ve oY e slies
17 (azds) 0L
ve HLE B R R

shiad 5 51y oV ar s (g Konly g5 J3 Gl 558 dbyls
qd&-ﬁi ﬁ;}& 2553 QJ}.«’)JJOQ‘A )IJ-; eI E B8R MSQQQW
whatd B! ddar ) ghans

(Y

kil pad jloso ol ile 1 0olisn! apg

b

e







-17% | Losts ylaidby g (gt gidoli 9 Joof

Fial phAS g § daliyy anbad 29,5 =¥ Jlgw
char ch=754;
printf ("%d", ch);
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int a=7;
printf("%d %d %d" , --a, at++, a),
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cout << "?hello \\ 0 again";

hello (o ?hello\again (z ?hello\ (o 7hello\0 again (2l
&

Sl plas oy )5 w09 8,198 T (5399 51 1519549, Gaalip jo = F Jigw
void main( )

Lo
mnt i=-1;
cout << (i <0) ? getch { ) : getch{ );

t
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void main( )

int f;
cin >> f;
switch(f) {
case 1 : cout << "3" ; break;
case int(4.5) : cout << "b" ; break;
case 2 : cout << "a" ; break;
case 5 : cout <<"n";
default . cout << "Hello" ;
}
¥
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char fl (char ci, char *xI)
{ char ¢2;

c2=(cl>"a" && cl <="2)? (A'+cl-"a) cl;

return ¢2;
void main( )

{
char x=getch( );
cont <<x<<fl(x,&x)<<x;

}
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widget f(widget u)y
{
widget V(u);
widget W=V,
return W;
}
main( ) {
widget x;
widget y = f(f(x));
}
ez

double (o

Ali]= 20+ i=0,1,2,..,9

1=0;
while (A[i]! = A[++])
Afi+2] - = A[it1];
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k=10;
for (i=0 ;1 <m; i++) {
for =0 ; j<n; j++)

k+=2;
k+=2;
k+=2;
Zm+2n+2 ¢ 2mn+2n+2 ( 2Zmn+2m+ 2 (o 2mn + 2n (&l
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int add(int a, int b)
{return a+b;}
int(*op)(int, int) = add;
**op(6, 8) (o *op=add +1 ( *ap(6, 8) (= (*op)(6 , 8) (Ll
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main( ) {
static int ¢=5;
printt ("%d A t", c--);
if(c) main( );
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A(int )
if(i > 0) {
A(i/2);
AG/2);
}
printf("*™");
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void main( )
int ¢ =‘0;
cout << ¢=0 <<' ,' << ¢ ==
}ou c c \9,

0 35 yoojut jlade 12 (5

int box(int I=1 , int w=2, int h=3)
{ return I*w*h; }
void main ()

cout << box();

cout << box(10);

cout << box(10, 10);
cout << box(10,10,10);

}

void main( )

{

intaf2] [3] = {{1,2}, {4}};
for (int i=0; i<2; i++)
for (int j=0; j<3; j++)
cout <<a[ijj<<'’;
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struct Time {
int bh, mm, ss;
-Time day; };
void main ()
{
Time t1, 2[10], *t3, &4,
} ,
0 ¢
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void main()
{
int a=0,b=0;
cin>>a,b ;
cout <<'b/a, b%a;,
} .
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void main()

for (int i=0; i<8; i++) {

- if (%2 == 0) cout << i+t

else if(i%3==0) continue;
else if(i%5 ==0) break; }

0246 (> 0346 (z 2358 (& 135 (al

Tl pla (o295 (949 540Uy 50 =TT Jiguo

fl(int b[ ], int s} .
{ if(s==1) return b[0] ;

else

return bfs-1] + f1(b, s-13; }
void main( )
{ const int s=10;
int afs] = {1.2.345,6,7.8,9.0} ;
int res = fl(a, s/2);
cout <<res; }
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int x=1;
void main(){

{

int x=2; {int x=3; cout<<X--;} cout<<x++;
{int x=3; {int x=4; cout<<++x;} cout <<x-—;}
cout<<:;xt++<<i:x+t;

}
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void f(int h[ ], intn, int x)

{
int i,
i=nt+l; 1=1/2;
while (>0 && h[j] <x)
{
h(i] =h[];
i=i;
=2
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for i=1;i<n; i+4)
for F1; j<n; j=j+0)
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int fib(int n)
{ if (ftab [n] >= 0 returmn ftab [n];
If (m==0 {n==1) {ftab[n] =n; returnn;}
ftab[n] = fib(n-1) + fib (n-2);

return ftab[n]; /
¥

n (s (1.75)n (= 20 (o [1+2 5] (all
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int f(int p, int g, int n)
{ ‘ )
intm ,
if (p % q >=n)
returnn ; L
m=n*f(p/2,q2,n/2), D
return (m * q);

}
99225 (s . 33075 ¢ s ply (0 297675 (.l

C g Ay dliil> Base 07 5o 5Ll Slasl £ai 5 Array[1.10, 5..15, 1.20] gomdw g4l - FA Sl

s a0 sl sle by oo biel Al b Telnl plaS (3,7, 10) pais v ol ol 00 0 i3 (5l

Base + 1965 (o Base + 1956 (» Base + 1596 (— Base + 489 (!

Sl plaS 33 G law 31 hels o= T4 Mg

< ’ :
% ?)
-.- . 5
< 5




3

14t olo i oS 3 Sl y g 24y gt gl S5 3057

sl o0l aTilien 1) yu0 4y it T Jold (goms Sy aly] SO (595 2 iRl S0 sl Loy Fe g

<{T(n) =T(n —l)+—2-

n

S Framao i 35 PARC ISR

T(n)=2n.log} (s T(n)=-§»log§ (z T(n)=2logh (= T(n)=2Ln{(n) ()

(Sanel 2 31 Glgi m)Fiemsl 35 o300 @ T oits 39801 (Fitamar (53w o slaps 5t 510G phas” )3 = FY Jlgus

Quicksort (s Selection sort (z Mergesort (o Bubble sort (.

ooy oLS T asl Jolf 9090 b 30 Sy giguinm hilow dzesi SBDHXEJKTFG o )le 51 77 Jlgus

LI PARY 3 oT SHgilan

HXDIJKEBSTFG (°~ HXDJKEBFGTS (z  SBTDEFGHXIJK (. HDXBJEKSFTG (.

F il pratras dds 35 plas ol 5 h(n)=\,‘3 n*43n g g(n)=logn! g f(n)=([logzn |}t St FY Jlgw
h(n)= (g(m)).f(n) =o(h(n)) (I
)=o(f(n)). n) o(h(n ))

il gyassy BT (59) BFS oy o8l gl 2l o 7 Gilgd (o0d 9,90 ploS = FF Jlgw
cedab (.l

b By d , bedae (o
| / l abced (&

acbde (2

o iy (3t 631iiusl Bubble Sort s oSl 51 gogm0 yge0 a1 55 ashyT (53l pa 51y ST FO Jlgus
(3,52,1,4,7) 55 yf 0 S y300 1l tiler Jok Uiy 3 duemlho

255 0 &y demlio Jos T g plzale Jos T (L

255 o0 D jpee deilie Jos V0 g plralz Jos T (o

05 0 Sy denlie Jos VF 5 plralz Joe P (2

055 oo O yseo dunlie fos ¥ 2lzals e Y0 (0 ,?:




e T g 2l
Cewl plas [ V1~ 5x dx adgh @il = FF Jigw
3
~ 2 (1~ 5x)2 4 C (M
3
-%(1 —5x)z+ C (v
3
—5(1—-5%)2+ C (¢
3
-11;(1 —5x):+C
3x2-2x-1 . ;
Cuilphas Y = Gt il saidlne - PV Jlgw
y=2.x=3,1 (4
¥ = 3.x=2 5 1 (o
y = 2 . XT ';' s 1 (E
v =% cx=3,1 ¢
Sl s [VI + sinx Cosxdx adgl @b = FA Jlgw
%(1 + sinx) Cos?x + C (!
3
Z(1+sinx)2+C (o
3
g(l + sinx)z Cos®x+ C (g
3
;(1 + sinx)z Cos® + C ¢
Cam] phas lim, g ;&13—1‘ = F8 Jlgw
b iy a0 (3 0 | g(_,, 3 (l
Ol olas (%) | F(RAD)=x2-3x42 512 B0 Jlgus
x*-5x-6 ( X45x-6 (= xX2-3x+2 (w x2-5%+6 (Ll
3x-12 . o
Tl ol £(2) wdly dhwgy f(x) = ——— @b 510 Jlg
y 12 6 (o 0 (al
1
il play lim, ., (14 2x)3= Jeols =07 Jlgw
1
2@ 0 & €3 (o 1 ¢l
< Cadloni () sl 25 polie 31 SaolaS =AY Jlgwo
.
15(*) ¢
% s

(154) + (144) @ 3(1:) . Gg) ( ?

2

o




3

178 elod

w3 Soila il 140 i f ool 315" (g0 3T

3, e (o
3
-2
2 (s
20

3 sle

) %

o -©

2

Tl ol WOl oo g00s X 89 Y=athX Gile -~ OF Jlgw

atb b (o b (&)
- 0 11 ~-1 s W
L ‘-""""1}11)'! [0 0 2 1 ] o Pl Ay = 0O LJ'}"'”
2(z ol s (o 1

s o152 oty 12 = Y2 = 1,512 05 Jlgus

x x Zx .
2 @ y B
s 1
lim, o xsin - — 0V Jlgw

Sl plas’ [~ 5] o - BA iy

3 2 3
o plas AB e B =[5 5]5a=[1 2] a5 i 0- 08 Jlgm
[—22 183] L [123 _82] (= , [_82 123] -

3 17 .
el pas [2 ] o ilo ugSine =+ Jlgww

1 =1
5iw ] e L, fle 12 e
2

slro Bl gl g dilioo oLST il FF il ylg 9 17 eSilae b Jlo i 21395 sol0 X (Bolad o y5T = FY Sl

ABYY(O

b Sl il 7 V=X8 | Bolai pitio g9 395
5% 4 YY (¢ Ag V(o VE 5 VY (Ll

1 Al I aiged 5 il X agiliz cadl 6 uilily 5 B ufilge b Jlo i Bolad yuie S X 1 Y Jlgms

F ! geamin Ju lylee 1 SuolaS ol X gdobal e

ol s 30 i X £ Zl_g,% alols o X asonl Jlzo (o
2
- g . -
sl lspt 21_23.71_1 alold o L as 080 Jlall (7

Syl 13X £ 21—25‘% alold o oo ye 40 liel! b (o

b o il {3V 0 A} Bolad aiges (SE) jlne slhas = FY Jizel

V- (z J;(y O #)|

S\ - N

X3




4
TR o i

1941 ela i w5 3 Sudlo 5 ghil 2450 A yf (i 15 (yg0 3T

B

0 gl Cao B1OF Zad Az LilojT 00 31 Ayl Jlosiol (adl Cacto o/ Ve Jleiol b (odaloT domt [T FF Jlgus
L i3 Gl oylas

130 N (g | A (o Y (all
af clalold il s=YF ood B jlane Sl ol 9 15+ i slaws 51 (6,40 FF diged 095 Wb Silen S FO  Jlguw
(Fpor5=2) 131 ol 3l 05 p1 30 1) dolr (98 W33 aBly uilee o j3 40 Obeodal U

GIARVARA \F-/VO)(lo QAL NN (= OIY YA (o (VOF V157 (Wl

? ! pln.\s YY gAY ¥ olae! L S C)'.tf"l‘.‘:“— 134 J‘,—u
1b (5 5z Al 1o (all
S 395 =0 S (543553 ylamr 00lails H158 ¥y 3 WAl LSy ogt e 9 yF S Wgi Jlaiat ST FY g

fasdly Aildld yuu ¥ o0lgils
Yo« (o Voor YO+ (o B (al

b Sl il ailly Fo ¥ due 90 (ol ail Jloxaf (bl 1Y Cuclo Fatro dus 90 o Jols Sl FA Jigw

A

\ !
el mEC p (aJl

.
= (&
= ¢

almold 10 5 o Jlosrl g ab /Y Jor 1 g olo s U oy Jo S j1 gt F g0 Jlosiod azili = F8 Jloww
31 bt el 0010 plauil 1y o1y Jok ol (F30 4y a5 (6958 asCy] Jlosarl ol oY Jos 51 (gt Jlow 90 U olo (il
b ol il Wil oady JLu Y

XY (s A (g JEY (O Y (all

sl 158 13 dalg ) 31 Spolad” adldly Cado (Noar b (o 598 (5110 Wrosts ST Ve Jlg
| s 2 Siles 2 ailes (a1
orSilea 2 aile 2 e (o
Gl Sl 2 we (i
dile 2 0o 2 Kl (o

Jol Iz 1 e oo aw o (Jloyi @ je 3l Solal O e w eld Glaail sue 4w 31 a8t Jlazel o VY Jlgw
S\ LA FETN SN S
TY 1

v y
7 0 s — (o - (al

3 17/0) alold ;5 anols 1,31 51 5,0 TP aigas K (a5 L (filen duo )3 A8 yLuobs! aliold aseilin - YY Jlguw

3
% (ol A8 JO Y U il Tyt 510de) il ol il i diged (yas LA Hlmo ST il (Bl (347
Y (s Vb (z Y (o V(g
- \°
= Sy )
% \ 3
= :

&




%V%‘ Qh}g ‘ﬁﬁ h&gﬂﬂ)’ﬁ' :5&;) h\&}‘ gul.i.&‘,is' a}ﬁjT

PR 7] KY p)fg.l..\;—-f 8 F Y e}ld.il & ‘_.._.1)3),..9.75 oo,:a:).& Lg;.é‘! AT MUJ.Q J._l')é).ﬁi)[{;gm\ff Jlj.w
1 Canl pilyt 5 58Y a5y U oy 8l 295 t e oylel i
Sb (o 8 G i (o \

b Gl gl Ve g VAT polie b ol aw Sobad aiged oKy 10 Ol pdi 1oy o 9)57).!_\’? Jaww
IV (o ARG ¥ (e 18 (<l

Jhosin | i o il Bolad 4 o398 duw dzeler ol 3 abl g0 Jlo i (glanele jo 10138 058 & ied = YO Jlow
b Gl gy ol 4Dl Al 31 pitew 39 byl 1 S pisTas 4yl
10 (o IY0 (¢ AR AR O YO (Ll

Wibo 30 g gailag SleMbl cy e
T Casmgd deadyt (5 325 oo 1] oS = VF Jlgw

byl | J...J”‘SJI Py W oddg s )L'L:-"'L.u (S Jon o)h.iti.w‘ ‘_gLu.Us') W la'..\f... vy Jls.w
ANSIHISB ¢ EDIFACT (¢ ASCX 12N (o~ ASTM. E 1384-90 (.l

03, PPS p cd¥s Sublogy Cudlpe Gloas ad pri’ poiigas plas’ = YA Jlgw
Global APG (z DRG (o California (&l

f ol plas over coding 31 jakite g,108 05 wislyd 0 ¥A low
Slecze) slaslon S onl angd (<l
Soloz slaailis g oDle 4 W5 arads (o
ol ot (slos Lo (4,135 5 (g
s QLJ):- ULL" (_;b.g (_;‘thl lens )‘l sokizul (a

Tl ouini 42 93 RFP j0 plas aym Ae Jlgww
Slestes 00 ()
woleidoy 25k 2l sle b (o
Jyeammo IS Sl (¢
olejlu ol slaikd (o

Sl 0010 1,3 £ 9 plus 31 glaiges (XML) pdy (B 5 =AY Jlow

. @ble (o 2 ,Skas (z bl (o S8 (Sl
{! 2")
(\ﬂ t" 0 o
: i ¥ : )

4




[

1949 oo 5 oS 33 Saflo y g 340 s 3 MMJU ooyl

Sl oo €and gl (Glacudlpo 30 (g ) SIS Cu o (aasind? dilolw S plaS = AT Jlgw
IEPD DCR-10 (& DSM-1V (. ICD-10-PHC (!

3,15 41,3 progress notes 3l Cauownd plas )0 jlow Fodhw Syl Ellae Kby (U5 Al AT Jlgw
P O (z S (o A

Pl g 2oy 9 (8 piamt 3]sl o yideo oleMl Kl Jolh it p105 m AT S5
CASPE (» STOR (z Finstar (v TMR (.l

Bed Complement (» Bed Available (z Bed Capacity (v Bed Count (!

S play il 8,10kl plas' = AF Jlgu
XI12N (o NCPDP (¢ HL7 (o LOINC (i

tctertd ) B} Gt § (P | V- | ‘H.Q.J.v gres, db»iﬁ)hﬁ é..'b).; adig g Db geions Qo; ,_;..L;.gd.'»'.uo..l\v Jguw
gyl Yo edls o Glojluw £ plaS w815 dudgd F )b
SOMR (s POMR (z TMR (.- IMR (.l

S ood Wyl eadd ylajl I3 ar (Fledlol i ploS = AN Jlgw
OIS ¢ ERP (& ES (v TPS (.l

fauivly o3 ""Complication of Medical and Surgical Care" s 32 G plos = AR Jlguw
Scar of Burn (.l
Postoperative Psychosis (o
Post luminectomy Syndrome (z
Malfunction of Pace-Maker (s

$ s (Knowledge Workers) (faliiifo iy plonil gl plos’ = 4¢ Jlgw
MIS OAS (& DSS (o Data Mining (.afl

§ las o).!)l.f o ,_;Lboélo LS)‘JS u‘n‘:j)! 30 Pl - 49 Jlg.w
SNOMED (s IND (z ICD (o CPT (it

Togu o0 s lainl S 0 31uil walg oleie & S plas wilje, (g besd o.:-{JL:.D dilzs 6l =AY Jlgw

™ ailysy yledipm (o |
/A4 , o
(4 39 0 sz a0 Hhlens Sl g
% ‘JL‘S 39 s
=L




3

1749 olo i o ) Sile yiif 34l ol gt gl 15 30037

St "Data Dictionary” Sl S plaS o Y Jigw
ol 0395 S5 )0 Sg2mge (slrodly Jilax dcgesms (Al
Lt bl e ol Ky Sl palie g rage (o
cssildgy bl s slraols 3 Ben a2l S0 (2
Cuades abao (gloo luibal a4y pwyiws Sl (o

?a,..&‘sni & BTED ‘s..'i_d'a'..\.{.! c“.“é‘)“’ tsl.hoah Casdn ‘sl.h‘;}u £ ol = 4F Jl,.w
Definition (o Relevancy (z Security (o Timeliness (il

BB iy el sl PA 11505 33 oo 0 5308 oo 5 s 5 Poo by i ot 3 51— 40 Jlgm
] Jue-r x.f}n ua.‘l;:'v ol‘,._m ol il solzsl

BATRE —F—xlu(z:_- —a—x\w(u,-a Ny
2 a3y b4y 2

Sl oMol s ploS 55 5 (Drill Down) g9l5 Gos = 47 Jlguw

OAS @ DSS (z TPS (o EIS (.
Cans! CIISS jo (Kdip Milo il Juo (538lguia pluS =AY Jlgw

what-if (> if-then (z KADS (- CDS (i
9 g0 g (5055 (Lol (639 8 S 1S = A Jlges

PHR ¢ PCR (- OAS (o OCR (.l

€3 o o0 51,8 (FleMol phmnsun glBa3g 1 oMbl (5389350 (g yld L (Fougmy 50 59351 plus - A% Jlgus
Olls (BB Culer pas (o
ools plfin 4 i3l & 5L (2

G slesislp @ i (0

FaiS o 2z 415 1y lajls )2 (Fliles glaakans audS 15 Gl pituaus 1 Sg pIAT Ve Jlgus
OAS ERP (z EIS (- TPS (uall

02510 (5 o il (K3 slallas Al pplas = ¥eY Jlgw

CPOE ¢ HIS (z PACS (o PIS (.
<, 3
v 2)
A - ki °




1944 olo ;9 S 3 eSaflo 55t 24 e g (guilid 308 35037

i 39, i — JAdl 39, odd
fCwn] ol plaS sudmd oLLS Jid 33, ol 395

=YY

el s 5 8 J &
A Caldl D 1pKila (I
cos sl as s (o
Jlad g oa3l oyliee (=

H:JJL-..L! Ay 0 449g (o

SR DETC IR TCIVRTIEI P TS VPP PONCIUPIE U [ POPPYPIV-L P PR gpt SRR E A Do
Ad hoc (o Executive (z Medical Audit (»  Medical Record (-l

Cum] gon g (oot g dolipr ylej S plaS V0D Sl
PPPM (o UMLS (# COBOL (. SGML (-t

e 0390 &5y S 50 lawgde jekar Hliw jloas ST S Lo AT Sl (lads Shass Sl SooliS = VoF I
fabio preki

Bed Turnover Rate (.l

Bed Occupancy Rate (o

Bed Turnover Interval (z

Average Daily Bed Occupancy (s

6O LS 0350 IS 10 ouds iy il e 31 glBlid ) b 0y 5ldio i e 3 Lolo (slaodld do o - VoV Jlgw

AL g FIJCRYUE PS Swew
o) Jisal o Sy alick (z b (o Sy Aebip (it

22308 9S50, 1y eslio o213l £ oudgo i GFlEMbT mimmas Cannll £ 93 o105 = VoA Jlgnw
cdlebss (5 sl ( s,z (o el (!

90 9o, o0 o gumttn (0315 55510, Wil yd g3 S plus = 104 Jlguw
Completation (s Documentation (z Form designing (o Data organizing (.4l

) ?03..:»'5»3 o G TD Sale™bd tSJST Cﬁ'é 61&45.‘9& £ 3 LS.!_ laldf_“* Jl_,.u:
laoots Sdg SW Jols (o e o Skl )l (2 asis (o 1l corw g 18l p )5 (Gl

"A-_{T,su w43 OleMb! i 1521 31 SpolsS “‘j -

e
%

(\%ﬂﬁ QL &S (o Sl o p e (z Sledb! (o ol (
' N

“\F-




3

1749 olo i i 3 Suilo gl 1650 iy el S (390 5T

o, 4

09 oo wgamio oyl ylon (Sl gloodigy (g5lw 03 (B (lgne dr SosalaS = WY JIgaw
Terminal digit (s Serial-unit (z Middie digit (»  Straight numeric (.l

S lmdos 5 dd (goloaiBl a1 oo 18] Fledbl b piiw drwsl 45w 1 ale o plaS 0 = VWY g
T34 g0 Lo
EDIRC =l Jelos (o =l (Al

0,00 51,3 Wosls cudnS ilas jl damas plas Sicber e Validity — 1WF Jlaw
Coverage (s Relevancy (z Accuracy (o Definition (!

o 4 |y d2uail g 035 (o0 ANy etactd 31 Giond Hins 5l a3 00 5" maudl' 8 s plaS )0 = 1O Jlgu
ODSS (s DSS (z GDSS PDSS (it

sl o oS 5 G 1 i (gudy ddude | lowt e VWP g
L C«..:.va (> L.Tt’.:‘l‘:'ﬁ- a,; (C )lf LJL-")'?' (u.'..: aals alf..u‘L_!_ Jd.o (u:J]

Sty ood O guder |y W gamionns Cak juw 0010 51 35 0530 plas 0529 < V1Y Jlgue
L LB Hog ool e ddule (Gl
ools Hautd sl 59, (0
oo 1S sdse (@
il w0

) ot i plaSin L (b o e 31 el o 3l pr olomes] s Sl 2Bl o (sloosls o2 oylo 3w e WA Jlgus
T of o0
EPR (o DDMR (¢ SOMR (o IMR (!

s oty Bl ot uefilon a5 53T ol o il Ao i plons 50 Gk JUdl 45y (3l e = VA gt
ﬁ'wl),_\_q;_’. n.Ls:JL! Ad )’fjw a'.n)dmhjlfum e y3 9 49

€ D (z Y (o Y (all

fagf o0 s as o | 238" 31 5y plas - 3> Computer Validity Check =17+ Jlgu
Qualitative (s Preventive (z Detective (o Corrective (! &

e AT &)

re




1799 olo i ' e 8 FKdle 5 gl 1458 b yf gl )15 y00 3T

_)

o508 b )

Part one: vocabulary
Directions: Complete the following sentences by using the most suitable word or phrases below
“each one.

121. The ability or power to make decisions for oneself can be considered as the best description of

self- .......c.ohee

a. determination b. appraisal ¢. incrimination d. indulgence
122 . People who lead ........... lives, i.e. without much exercise and mobility, have been found to be
at greater risk for heart disease and other illnesses.

a. hectic b. latent c¢. indulgent d. sedentary
123 . As the drugs are likely to have a/an ............ effect on the patient's nervous system, the
doctor advised her to stop taking such drugs. ‘

a. deleterious b. crucial c. resentful d. optimal

124 . Poor eyesight is a ........ to a student; it lessens his ¢chance of success.

a. convenience b. benignity . c. blessing d. handicap
~ 125. By avoiding the very situations where they need to learn social skills, shy children ......... -

their ability to cope.

a. reinforce b. mimic ¢. augment d. diminish
126 . Despite the fact that forgetting is normal, exactly how we forget and what .......... the process
are poorly understood. This calls for more etiologic investigations.

a, underlies b. legitimizes c. standardizes d. accomplishes
127 . World Health Organization has recently warned developing countries of high .......... rates
among malrourished children.

a. legibility b. vitality c. mortality d. agility
128 . There is a ....... ... difference in the meaning of these two words. Therefore, it is not easy to
distinguish them. ,

a. trivial b. trembly ¢. tremendous d. traceable

129 . If death is ........ and the patient is suffering, some consider it ethical to discontinue all means of

life,
a. imminent b. outgoing c. pertinent d. far-reaching
130 . These parents need to .......... more pressure on their children; otherwise, they will fail the
S%fse. ¥
. exempt b. rely c. release d. exert f
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131. Although the pain was temporarily relieved, it was not completely .......... and flamed up as
soon as the drug lost its effect.
a. suppressed b. provoked c. maintained d. illustrated

132 . Many undesirable incidents could have been.......... if a staff member of the hospital could

monitor the patients closely.

a. initiated b. averted c. empowered d. exacerbated
133 . Medicinal drugs can cause ............ reactions if taken inappropriately.
a. invaluable b. plausible c. adverse d. intended

134 . A new study supported the possibility that damage to sperm can even be caused by the low

............ produced by the computer without the Internet connection.

a. radiation b. resonance c. disturbance d. deterioration
135 . Athletes must be careful not to take................ medicine.

a. consumed b. canceled c. prescribed d. prohibited

Part two: Reading comprehension

Directions: Read the following passages carefully. Each passage is followed by some
questions. Complete the questions with the most suitable words or phrases (a, b, ¢ &
d) below cach one. Base your answers on the information given only.

Passage 1

Genome research developments have revolutionized knowledge of the role of inheritance in health,
disease, and athletic performance. Nowadays, experts in gemomics, or personal diagnostics, can
clarify the impact of a genetic make-up and the significance of environmental factors such as
nutrition and personal behavior in relation to the causation of diseases like cardiovascular,
psychiatric, and infectious diseases. There is also evidence that genes contribute to athletic
performance, although the contribution of genes to success at the elite level may range anywhere
from 5% to 90%. There is no evidence that genetic variations can predict athletic performance.
Currently, DNA testing is unlikely to provide any additional information to an athlete or coach
beyond what is already known through the traditional talent identification programs. Regarding
the interaction of sports and genes, it is known that some genetic disorders, e. g. Marfan syndrome,
can represent a serious health risk in someone undertaking sirenuous physical activity.

While more is learned about how the genome determines patterns of disease, how this information
may ethically affect people’s lives must also be discussed. Already, people have been refused life
insurance policies on the results of genetic testing. The argument of the insurance company is that
it is unfair on those free of the genetic condition to have to support people who know that they will
suffer from a condition, such as Huntington’s disease later in their lives.

136 . Genomics, as defined in the above text, has a role in the ......... .

a. consideration of ethical issues in genetics
~ b, modification of each person’s genetic make-up .
/. c. prediction of the individual’s athletic performance ; a"

"
v d. identification of diseases through the individual’s genes f
@
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137 . We can infer from the informatien presented in the passage that experts in genomics can now

clarify the effect of genetic and llfestyle factors on getting afflicted with ..............
a. limping b. pneumonia c. low back pain d. short-s1ghtedness
138 . According to the author, nowadays, experts in genomics ............. performance in sports.

a. believe that genomics is highly predictive of

b. can only talk of general contribution of genes to

c. believe genes in different individuals invariably predict

“d. can determine the exact contribution (5% to 90%) of genes to

139 . The author implies that DNA testing compared to traditional talent identification programs

provides coaches with ............... information about the predictive power of genes. '
a. some additional b. no significant c. roughly equal d. highly variant

140 . The predictive power of genomics in the identification of individuals’ future illnesses has in

cases led to ....
a. their being deprived of insurance
b. their refusing to get life insurance policies
¢. public support of those free of the genetic condition
d. public support of patients having Huntington’s disease

Passage 2

There is a great concern in Europe and North America about declining standards of literacy in
schools. In Britain, the fact that 30 per cent of 16 year olds have a reading age of 14 or less has
helped to prompt massive educational changes. The development of literacy has far-reaching effects
on general intellectual development z2rd thus anything which impedes the development of literacy is
a serious matter for us all. So the hunt is on for the cause of the decline in literacy. The search so

- far has focused on socioeconomic factors, or the effectiveness of ‘traditiomal’ versus ‘modern’
teaching technigues.

The fruitless search for the cause of the increase in illiteracy is a tragic example of the saying ‘They
can’t see the wood for the trees’. When teachers use picture books, they are simply continuing a
long-established tradition that is accepted without question. And for the past two decades,
illustrations in reading primers have become increasingly detailed and obtrusive, while language
has become impoverished - sometimes to the point of extinction.

141 . The author believes that researchers have ......... .

a, failed to deteet the main cause of illiteracy

b. recommended the use of fewer picture books

c. supported the use of more texts in school books
d. come to an agreement on causes of illiteracy

142, The saying mentioned by the author implies that ......... .
a. students use too many picture books in schools
» b. more radical educational changes are required to increase literacy

(ﬁ researchers have dealt superficially with the problem v >
9

low level of literacy is getting more and more common

Pl
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143 . The main concern about illiteracy is that it .......... .

a. might stimulate more violence and crime in schools
b. may reinforce the attainment of school standards

c. prevents the development of cognitive potentials

d. leads to the development of more indifferent students

144 . The last sentence of this reading selection indicates that the writer ........

a. is in favor of illustrations in reading primers

b. supports continuing traditional approaches

¢. supports the use of modern teaching techniques
d. is critical of the contents of reading books

145 . It is implied that the solution to the problem mentioned is to ......... !

a. use a combination of traditional and modern teaching techniques
b. add more texts to reading school books

c. give up using traditional teaching techniques

d. focus more on such factors as socio-economic issues

Passage 3

The steady increase in childhood poverty and the growing number of children in single—mother
households make it urgent to inquire into the complex relationships of children’s health with family
structure, social class, and race. Higher rates of mortality, morbidity, and disability are known to
be associated with lower income, less education, lower occupational level, racial or ethnic minority
status, and other social class variables. Research on children has comnsistently shown that children in
poor families experience a disproportionate burden of health problems, a higher risk of severe
iliness and chronic conditions, and more limitation of activity than children in more affluent
families. Whether the health gap between low-income and higher income children has grown wider
as economic and social conditions have worsened is not known. The gap in child health by
socioeconomic status is not clearly closing. Children who live in families headed by a single mother,
black children, and those living below 154% of the poverty index are more likely te be in poor or
fair health compared with children in two-parent families, white children, and more affluent-
children. The disparity in child health has consequences and implications, not only for the personal
achievement and economic self-sufficiency of the individual children, but also for the society
deprived of productive, healthy workers and citizens,

146 . This passage is mainly about ................. .

a. worsened socioeconomic conditions as affected by race

b. the effects of poverty, race and family structure on children’s health
¢. striking rates of morality and morbidity among children

d. disproportionate burden of health issues among various societies

147 . The writer mainly calls for erveeeneonn .

a. interviews and examination of children with low income and low education

b. investigation on the interrelation between poverty and health issues in children

c. studies on the socioeconomic burden on children’s life and future

d. research on single mother households with problems in relationship with their children

)
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148 . According to this passage, there ............ between children’s health and socioeconomic

status.
a. is a mutual link
b. is a negative association
¢. are no particular associations

d. is a non-significant relationship

149 . The gap in the health issues of children in various socioecond mic conditions ......coecee b

a. mostly affects children’s families

b. impacts the children’s personality

¢. impacts children and society

d. leaves families and the public unaffected

150 . Further investigation of the relationship between chiidrén’s health and_social factors is

indicated by ............ .
a. a steady rise in poverty and single motherhood
b. low income among black children
c. increase in child disability in single-parent families
d. short term fluctuations in socio-economic conditions

Passage 4 |
Despite the intricacies and complexities of the technology mvolved in an MRI machine, it is a safe
and painless procedure. As long as you follow the precautions before using an MRI, you will be
fine. However, it is still possible to deal with a few MRI side effects once the procedure is complete.
Because there is no physical harm to the patient, the side effects are, for the most part,
psychological due to the nature of the MRI scan. The opening in the chamber, where you will be,
will be quite small. Lying on your back for a prolonged period of mme might cause some pain in
your back, It could also cause pain in other areas from lying on an uncomfortable patient table.
This issue is temporary, but it is worth neting for those with chromic pain in certain joints or areas.
If you have to undergo a scan that requires your whole body to be placed in the center, those with
claustrophobia will have a problem going through with the MRI scan. Possible solutions are to take
medication that will suppress your nerves or just sedate you altogether Other than this, if your
claustrophobla is not very serious, the next best thing is to close yuur eyes, take deep breaths and
imsagine you are on a2 sunny and peaceful beach. :

151 . Thinking about “a sunny and peaceful beach” shows.......... L.

a. the likeness between a peaceful location and MRI
b. how calm and quiet the tunnel of MRI is

c. an option for softening claustrophobia

d. the best solution to overcome fear

152 . The writer suggests that the side effects......... .

a. change into psychological problems unless medication is taken
b. are mostly psychological because the procedure is safe

% ¢. could be removed by a deep breath and good images .
('d. could cause claustrophobia and low back pain v
» a —YY- 9\:
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153 . The best title for this passage is ............. .

a. MRI; a disturbing procedure in the long run

b. Psychological effects of MRI without sedatives

c. MRI: a safe procedure with some side effects

d. Complications of MRI: claustrophobia and back pain

154 . The word “It” in line 7 refers to ........... .

a. prolonged period of time

b. lying on the back

c. pain in the back

d. uncomfortable patient table

155, 1t is implied from the passage that the side effects of MRI ............ {

a. will remain in the body for a prolonged period of time
b. affect the mental and physical state

c. are removed by closing eyes and taking deep breaths
d. deepen claustrophobia which is easily treatable

Passage 5

As we understand the brain in greater detail, we are able to develop drugs that stimulate it. This
has proven a life-saver for the millions of people with attention deficit disorder, and could be a
tremendous breakthrough for those suffering from Alzheimer’s disease.

It could also be of great use to normal people. If a pill conld improve your memory, focus and
concentration — why not take it? This also leads to a slippery slope. You can imagine a workforce
where it is the culture to take performance enhancers routinely, and your boss yelled at you if you
didn’t do so as well.

This pressure to take pills for focus is 2lready intense at the best schools. Spend time in the library
at some colleges, and you will overhear students talking about using piils like Adderall for better
focus and attention.

156 . Our current understanding of the brain ........... a breakthrough in treating those with

Alzheimer’s disease,
a, has already caused  b. is likely to resultin  c. has little to do with  d. is rooted in

157 . The underlined word “It” directly refers to ......... .

a. developing new drugs

b. understanding the brain better
¢. stimulating the brain

d. suffering from Alzheimer’s

158 . The second paragraph mainly deals with ............. .

a. benefits and harms of memory enhancing pills
b. advantages of focus and concentration
¢. performance enhancers in the workplace

y d. relationship between the boss and pill takers . a
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159 . The pills used for increasing focus are

a. prescribed for students
b. limited to the library
c. illegally available

d. apparently considered

160 . Adderall is an example of ........ pills.

a. attention disorder

b. concentration enhancer
¢. Alzheimer’s disease

d. emotion reliever

........ in ¢certain schools.
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